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An Indian Citizen has declared renunciation
of his citizenship in 2017 when his son was 10
years old. Subsequently, his declaration of
renunciation was successfully registered.

Which of the following fundamental rights
will be enjoyed by his son at present ?

1. Right to Privacy

2. Protection against arrest and detention

3. Right to Freedom of speech and expression
Select the correct answer using the code given
below.

(a) 1and 3 only

(b) 2 and 3 only

(c) 1and 2 only

(d) 1,2and3

Consider the following objectives:
1. Political Justice

2. Economic Liberty

3. Equality of Status

4. Unity and Integrity of the Nation

Which of the above given objectives are stated
in the Preamble to the Constitution of India ?
(@) 1,3 and 4 only

(b) 2and 3 only

(¢) 3 and 4 only

(d) 1,2 and 4 only

Consider the following statements regarding

President’s Rule under Article 356 of the

Constitution:

1. There is no maximum period prescribed for its
operation.

2.  When it is imposed, the President can assume to
himself any of the powers vested in the Governor.

Which of the above statements is/are

correct ?

(a) 1only
(b) 2 only
(¢) Both 1and 2

(d) Neither 1 nor 2
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Consider the following statements regarding

the Parliamentary form of government:

1. The ministers operate on the principle of

secrecy of procedure.

The ministers are members of both the

legislature and the executive.

3. The Prime Minister is the leader of the council
of ministers.

How many of the above statements are correct ?

(a) only one (b) only two

(c) All three (d) None

o

With respect to the effect of National
emergency on fundamental rights consider the
following statements:

1. When a National emergency is proclaimed
Article 19 is automatically suspended.

2. DuringaNational emergency a presidential order
suspending enforcement of any fundamental
rights requires parliament approval.

Which of the statements given above is/are correct ?

(a) 1only

(b) 2 only

(c) Both1and 2

(d) Neither 1nor 2

Who among the following was not a member of the
drafting committee of the Constituent Assembly ?
(@) B.N.Rau

(b) B.R. Ambedkar

(c) Alladi Krishnaswami Ayyar

(d) K.M. Munshi

How many of the following statements are

correct regarding the Constituent Assembly ?

1. It was a fully sovereign body, which could
frame any Constitution it pleased.

2. It was indirectly elected by the people

3. It became the first parliament of India.

Select the correct answer using the code given
below.

(a) only one

(b) only two

(c) All three

(d) None
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Consider the following statements with reference

to the Right to Freedom of Religion (Article 25-28)

provided under Part-III of the Indian Constitution:

1. They cover only religious beliefs but not
religious practices and rituals.

2. No religious education shall be provided in any
educational institution administered by the State.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(c) Both1and 2

(d) Neither 1nor 2

Which of the following is essentially not a
feature of a federal politics ?

(a) Dual citizenship

(b) Independent judiciary

(c) Rigid Constitution

(d) Supremacy of the Constitution

Withreference tothe Ninth schedule of the Indian

constitution, consider the following statements:

1. It was the first schedule that was added after
the commencement of the constitution.

2. It was enacted to protect laws related to agrarian
reforms and for abolishing the zamindari system.

3. Alllaws placed under this schedule are provided
immunity from judicial review.

Which of the statements given above is/are correct ?

(a) 1only

(b) 1and 2 only

(¢) 2 and 3 only

(d 1,2and3

How many of the following provisions are

Fundamental Duties under Part IV(A ) of the Indian

Constitution ?

1. To abide by the constitution and respect its
ideals and institutions.

2. To protect and improve the rivers and wildlife.

To promote equal justice and welfare of the people.

4. To promote the spirit of common brotherhood
amongst all the people of India.

Select the correct answer using the code given below.

(a) 1and 2 only (b) 3 and4only

(¢) 1,2 and 3 only (d) 1,2 and 4 only

w
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of State Policy (DPSPs) have been given
precedence over Fundamental Rights under
Article 14 and Article 197

(a) Article 38 and Article 40

(b) Article 50 and Article 51

(c) Article 44 and Article 48

(d) Article 39 (b) and (c)

With reference to the Directive Principles

provided under part IV of the Indian

Constitution, consider the following statements:

1. Promoting cottage industries on an individual
or cooperation basis in rural areas.

2. The right to public assistance and work in case
of old age, illness and disability.

3. Promoting the educational and economic
interests of SCs, STs, and other weaker sections
of the society.

4, Promoting the voluntary formation of
cooperative societies.

How many of the directive principles given

above are based on Gandhian ideology ?

(a) only one

(b) only two

(c) only three

(d) all four

Consider the following statements regarding
the applicability of fundamental rights to
armed forces:

1. Parliament can restrict but cannot abrogate the
fundamental rights of the members of armed
forces.

2. The expression ‘members of the armed forces’
not just includes soldiers but even civilian
employees such as mechanics, cooks, etc.

Which of the statements given above is/are

correct ?

(a) 1only
(b) 2 only
(¢) Both 1and 2

(d) Neither 1 nor 2
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16.

17.

Which of the following statements regarding

Democracy is/are correct ?

1. It is a form of government that guarantees
economic development.

2. It seeks to promote and accommodate social
diversity.

3. It aims to promote the dignity and freedom of
its citizens.

Select the correct answer using the code given

below.

(@) 1and 3 only

(b) 2and 3 only

(c) 2only

(d 1,2and3

Consider the following pairs regarding the
committees of the Constituent Assembly and
their chairman:

Committee Chairman
1. Union Constitution : B.R. Ambedkar
Committee

Jawaharlal Nehru
Rajendra Prasad

2. Steering Committee :

3. Union Powers
Committee

How many of the above pairsare correctly matched ?

(a) only one

(b) only two

(c) All three

(d) None

Which of the following can be considered as elements

of the basic structure of the Constitution of India ?

1. Freedom and dignity of the individual

2. Limited power of Parliament to amend the
Constitution

3. Secular character of the Constitution

Select the correct answer using the code given
below.

(a) 1and 2 only
(b) 1and 3 only
(¢) 2 and 3 only

@ 1,2and3
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19.

20.

the Attorney General of India:

1. Article 76 of the Indian constitution provides
for the office of the Attorney General of India.

2. He is subordinate to and assists the Solicitor
General of India.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(¢) Both1and 2

(d) Neither 1nor 2

The ‘86th Constitutional Amendment Act of
2002’ added articles to which of the following
provisions of the Constitution of India ?

1. Fundamental Duties

2. Fundamental Rights

3. Directive Principles of State Policy

Select the correct answer using the code given
below.

(@) 1only

(b) 1and 2 only

(c) 2and 3 only

(d 1,2and3

Consider the following statements regarding
the amendment of the Constitution under
Article 368:

1. The ©bill for the amendment of the
Constitution cannot be introduced by a private
member.

2. The bill must be passed in each House by a
simple majority.

3. There is no provision for holding a joint sitting
for the purpose of the amendment bill.

Which of the above statements is/are correct ?

(a) 1and 2 only

(b) 3only

(¢c) 1,2and3

(d) 2 and 3 only




21, Hifleh wdal & ded o frefafad § § S9-97 21, Which of the following statements in the context

22.

23.

FOTHE L ?

(a) AT el B T T FHA WFHE % T1eq
AT foFT ST Tl 2 |

I FA i GAUeh ST i S H T et
GG HAE |

T el Bl WRA H e are feefrt W o @ny
fepen < Tha B |

Te <61 ST T 3TR SEeh! TR el Ueh Hifersh
FAAL

frafatea ® @ few Rafa & v o wgufa ymaw

T ST 2 ?

1. 13;111 e ke Ouig fGurmw @ fef
f

2. Wl ®E hEEA THIW T oW B SN HE
I U SEAA W ek HHSA S § W Té

TR
3. WSTEIR o STRIG % R I H FHE |

9 fgT T He W OIUET Wk HE W

EES

(@) Hae1 3R 2
(b) A3

(c) hael2 33
(d) a1 3R 3

frafafad § & S-91/F TH Arhdises Q9 o

Haa S HR E/E?

1. 8 TR o Wik ol S Hear g |

2. TS USHIeh ACHNE & W % ®q H wE
FIAR |

3. g Vifergul ek W TTHITSToR IR o o Qe & &
T w2 |

o fqr T He W SuEm W W S
g |

(@) haell
(h) e 2 AN 3
(c) Hael13R3

(b)
(©)

(d)

@ 1,233

22.

23.

of the Fundamental Duties is not correct ?

(@) The fundamental duties can be implemented
through some other legal provisions.

They help the courts in examining the
constitutional validity of law.

The fundamental duties can be extended to
foreigners living in India.

To wuphold and protect sovereignty is a
fundamental duty

(b)
(©)

(d)

In which of the following situations would it be

inappropriate to impose President’s rule in the

state ?

1. Incaseof hung assembly after general elections.

2. Where a ministry resigns and no other party
is able to form ministry commanding majority.

3. Maladministrationinthestate duetoallegations
of corruption.

Select the correct answer using the code given
below.

(@) 1and 2 only

(b) 3 only

(c) 2and 3 only

(d) 1and 3 only

Which of the following is/are the

functions of a constitution in a democratic

country ?

1. It checks the power of the government.

2. It acts as an instrument of political
selfdetermination.

3. It acts as a means to bring about social change
in a peaceful manner.

Select the correct answer using the code given
below.

(@) 1only
(b) 2 and 3 only
(c) 1and 3 only

(d 1,2and3
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26.

27.

the context of constitutional reforms introduced

by the British through various acts ?

1. Government of India Act of 1935 introduced
dyarchy at the centre.

2. Indian Councils Actof 1909 introduced communal
representation for Sikhs and Anglo-Indians.

3. The Indian Council Act of 1892 gave the
legislature the power of discussing the budget.

Select the correct answer using the code given below.

(@) 1and 2 only

(b) 1and 3 only

(c) 2only

(d 1,2and3

Which of the following parts of the constitution
is/are non-justiciable by the courts ?

1. Fundamental Rights

2. Fundamental Duties

3. Directive Principles of State Policy

Select the correct answer using the code given below.
(a) 1and 3 only

(b) 2 only

(c) 2and 3 only

(d 1,2and3

Who among the following described Directive
Principles of State Policy (DPSP) as the ‘moral
precepts for the authorities of the state’?

(@) L.M. Singhvi

(b) Benegal Narsing Rau

(c) Rajendra Prasad

(d) B.R. Ambedkar

The Government of India can granta certificate

of naturalisation to a person, if:

1. Heisacitizen of any country and undertakes to
renounce the citizenship of that country.

2. He has an adequate knowledge of a language
specified in the Eighth Schedule to the Constitution.

3. He has resided in India continuously for the
last seven years.

Select the correct answer using the code given below.

(a) only one

(b) only two

(c) all three

(d) None
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for which of the following provisions related

to Citizenship ?

1. Modes of acquiring citizenship after the
commencement of the constitution.

2. Procedure describing the registration of
persons of Indian origin residing outside India.

3. Mechanism of granting citizenship rights to
persons migrated from Pakistan to India.

Select the correct answer using the code given below.

(@) 1and 2 only

(b) 2and 3 only

(c) 3only

(d 1,2and3

Which of the following directive principles were

added through constitutional amendment acts ?

1. To promote equal justice and to provide free
legal aid to the poor.

2. To protect and improve the environment and to
safeguard forests and wildlife

3. To minimize inequalities in income, status,
facilities, and opportunities

4. To raise the level of nutrition and the standard
of living of people and to improve public health

Select the correct answer using the code given

below.

(@) 1,2 and 3 only

(b) 2,3 and 4 only

(¢) 1,3 and 4 only

(d) 1,2 and 4 only

How many of the following fundamental rights

are available to only Indian citizens ?

1. Prohibition of discrimination on grounds of
religion, race, caste, sex, or place of birth

2. Freedom of profession

3. Right of minorities to establish and administer
educational institutions.

4. Prohibition of traffic in human beings and
forced labor.

Select the correct answer using the code given

below.

(a) only one

(b) only two

(c) only three

(d) all four
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31. Consider the following statements:

1. Only an aggrieved person can seek a Quo-
Warranto writ.

2. Mandamus cannot be issued against a private
individual.

3. Certiorari can be issued
administrative authorities.

Which of the statements given above is/are

correct ?

(a) 2 only

(b) 1and 3 only

(c) 2and 3 only

(d 1,2and3

even against

Consider the following statements regarding

Uniform Civil Code (UCC):

1. Under Article 44 of the Indian constitution, the
state shall endeavor to secure UCC throughout
the territory of India.

2. Atpresent, Gujarat is the only state with a UCC.

Which of the statements given above is/are correct ?

(a) 1only

(b) 2 only

(c) Both1and 2

(d) Neither 1nor 2

Consider the following statements with respect

to the Preamble of the Constitution of India:

1. The Preamble was enacted before the rest of the
constitution was enacted by the Constituent Assembly.

2. The Preamble is based on ‘Objective Resolution’
drafted and moved by Jawaharlal Nehru in 1946.

Which of the statements given above is/are correct ?

(a) 1only

(b) 2 only

(c) Both1and 2

(d) Neither 1nor 2

In which of the following landmark cases
Supreme Court described that the Indian
Constitution is founded on the bedrock of the
balance between Fundamental Rights and
Directive Principles of State Policy ?

(a) Champakam Dorairajan vs State of Madras

(b) Minerva Mills vs Union of India

(c) Kesavananda Bharati vs State of Kerala

(d) Maneka Gandhi vs Union of India
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37.

38.

Public Service Commission (SPSC)is not correct ?

(a) Its members are appointed by the Governor of
the state.

A retired member of SPSC is eligible for an
appointment as the chairman of UPSC.

Pension of the Chairman and the members of the
commission is charged upon Consolidated Fund of India.
Recommendations made to the government are
advisory in nature

(b)
©

(d)

How many of the following provisions can be
amended by a special majority of Parliament
without the consent of States ?

1. Rules of procedure in Parliament

2. Fundamental Rights

3. Directive Principles of State Policy

4. Election of the President and its manner
Select the correct answer using the code given below.
(a) only one

(b) only two

(c) only three

(d) all four

There is a border dispute between India and a
neighboring country ‘X’. If that dispute has to
be resolved without India having to cede any of
its territories, it can be effected by:

(a) the passage of a law by the parliament with
simple majority.

an executive action without the need of any
constitutional amendment.

a constitutional amendment by a special majority
and also the consent of half of the state legislatures.
a constitutional amendment by a special majority.

(b)
()
(d)

How many of the following fundamental rights
protect individuals against both state and
private individuals’ actions ?

1. Article 17

2. Article 23

3. Article 24

Select the correct answer using the code given below.
(a) only one

(b) only two

(c) all three

(d) None

1
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40.

41.

Article 19:

1. Right to form cooperative societies under
article 19 is added by way of the constitutional
amendment.

2. Rights under this article are not available to
legal persons like companies.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(c) Both1and 2

(d) Neither 1nor 2

Consider the following statements regarding the

differences between the Indian and British polity:

1. The Indian system is based on the doctrine
of the sovereignty of Parliament while the
Parliament is not supreme in Britain.

2. India does not have the system of legal
responsibility of the minister but Britain has it.

Which of the statements given above is/are correct ?

(@) 1only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Which of the following statements is/are correct

regarding the powers vested to the President

under Article 359 of the Constitution of India ?

1. He can promulgate ordinance for any state.

2. He has the right to suspend the enforcement of
some fundamental rights.

3. He may extend National Emergency only to few
parts of the country and not the entire country.

Select the correct answer using the code given
below.

(@) 1and 2 only
(b) 2 only
(c) 2and 3 only

(d) 3 only
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44,

29 3 30 TZFH%?fﬁ'Q‘JTII 42. Consider the following statements regarding

cultural and educational rights granted under

Articles 29 and 30 of the Indian Constitution:

1. The scope of Article 29 is not just limited to
minorities but includes the majority as well.

2. The term minority has not been defined
anywhere in the Constitution.

Which of the statements given above is/are
correct ?

(@) 1only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Which of the following words was/were added
to the Preamble of the Indian onstitution by the
42nd Constitutional Amendment Act, 1976 ?

1. Socialist

2. Secular

3. Unity

4, Dignity

Select the correct answer using the code given
below.

(a) 1only

(b) 1,2 and 3 only

(c) 1and 2 only

(d) 2,3 and4only

With reference to the citizenship in India,

consider the following statements:

1. Only a citizen by birth and not a naturalized citizen
is eligible for the post of the President of India.

2. One has to be an Indian citizen to contest for
the membership of the Parliament and the state
legislature.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 only

(¢) Both 1and 2
(d) Neither 1 nor 2

13
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46.

47.

Principles non-justiciable because:

1. Inadequate financial resources at the disposal
of the state.

2. Diversity and backwardness of the country
acting as a stumbling block in their
implementation.

3. Fundamental rights already have been made
justiciable and making Directive principles
justiciable would be meaningless.

Select the correct answer using the code given below.

(a) 1only

(b) 1and 2 only

(¢) 2 and 3 only

(d 1,2and3

Consider the following statements regarding

Article 14:

1. The Indian Constitution, under Article 14,
provides only for Equality before the law and
not equal protection of laws.

2. As per the Supreme Court where ‘equals’ and
‘Unequals’ are treated differently article 14
does not apply.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(¢) Both 1and 2

(d) Neither 1 nor 2

Which of the following provisions can be
amended by a simple majority of Parliament ?
1. Admissionor establishment of new states

Use of official language

Elections to Parliament and state legislatures
Conferment of more jurisdiction on the
Supreme Court

Select the correct answer using the code given below.

W

(a) 1and 2 only
(b) 1,3 and 4 only
(¢) 2 and 3 only

@ 1,2,3and4
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rights of citizenship throughout the country.

But in how many of the following cases can be

discriminated against citizens ?

1. When Parliament prescribes residence within a
state as a condition for employment.

2. When a state provides for special benefits to its
residents in relation to rights not given by the
Constitution to the Indian citizen.

3. To protect the interests of any scheduled tribe.

Select the correct answer using the code given
below.

(a) only one

(b) only two

(c) all three

(d) None

Consider the following statements regarding

National Emergency:

1. Approval of parliament is necessary for the
revocation of the National Emergency.

2. Maximum time period for the operation of the
National Emergency is three years.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(¢) Both 1and 2

(d) Neither 1 nor 2

Whichofthefollowingstatementsinthe context

of the Preamble of the Indian Constitution is

not correct ?

(a) It states that constitution derives its authority
from the people of India.

(b) Tt specifies the objectives of the constitution.

(c) It is a source of power to the legislature.

(d) It is non justiciable in the courts.
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